
200-P-991228-EN-01/09.2015

HDM/HDS15
48/76

7 Levers

7.1 Free end spool with dust proof seal

1 0 2
L55 36

Ø 9

1
6

27

1.06”

1.42”

Ø .35”

8

.3
1

”

.6
3

”

Code: 200707190040

7.2 Standard lever group

102

1 - 2 standard stroke 5-5
0 neutral position 

L100: code 200707120340

L300

57

7
1
.5

23.6°

8.6°

5.7°

2

1

0

30

2
0

5
9
.5

1
1
2
.7

71
.5

M10X1.5

2
.3

4
”

2
.8

1
”

4
.4

4
”

2
.8

1
”

1.18”

2.24”

.7
9
”

POS0
8.6°

POS2
23.6°

POS1
5°POS3

17.4° 0°

POS0
8.6° POS2

23.6°

POS1
5.7°

POS4
34.6°

0°

Floating position Z

spool - Stroke: 5-5-9

Floating position W

spool - Stroke: 5-5-9

L
o

M10X1.5

Lo
Type Code

mm inches

185 7.28 AL001 200702220010

250 9.84 AL002 200702220030

300 11.81 AL003 200702220040

350 13.78 AL004 200702220050



 

200-P-991228-EN-01/09.2015

HDM/HDS15
49/76

7.3 Safety levers

L50: code 200760721590 L51: code 200760721600

M10X1.5

M10X1.5

M10X1.5

L
o

AL056

3
5

0

1
3

.7
8

”

335

13.19”

Lo
Type Code

mm inches

279 10.98 AL056 200760721590

7.4 Remote cable control

M10X1.5

Optional 200677200480

Lever support code: 200760900130

M10X1.5

L
0

AL00*

Cable

Cables are assembled on
the valve only on request
and with an extra charge.

Optional 200677200480

M10X1.5
L142

code 200707120120

Only for rod re­
mote control

4
.8

”
1
2
2

1
.6

5
”

4
2

M
8
x
1
.2

5

2
.6

8
”

6
8

1
.5

7
”

4
0

1.57”
40

.3
5
”

9

5.9”
150

1.38”
35

Lo
Type Code

mm inches

185 7.28 AL001 200702220010

250 9.84 AL002 200702220030

300 11.81 AL003 200702220040

350 13.78 AL004 200702220050

Cable
length

Code
Cable
length

Code

1000 mm 200544104002 2500 mm 200544104007

1500 mm 200544104005 3000 mm 200544104008

2000 mm 200544104006 4000 mm 200544104009

Code  200960900010

Spool kit


